51

511

51

X
0.5
0.5
0.5

0.167

0.167

0.167
01
01
01

1
0.333
0.2
1
0.333
0.2
1
0.333
0.2

P =25% P = 50% P =75%
WHAFO = Wrionty - WO > Whriarity - WO > Wriority
* * *

* * *

WHfO = Wrrionty WO = Worority WO = Wpriority
WHFO > Wrioity WO > Worioity  WHifO > Wriority
WO = Worioty WO = Woriority - WO = Wriority
WO = Wrioty WO > Wpriority - WO > Wrionity
WO > Whriaity WO > Wriority - WO > Wriarity

(Steady stale)

/1=0.16715=0333  /1=01,//=02

P=25%,50%  75%



X=051fi=1 X=01, =0333
P=50%  75%

C X=0467, fizl x=0.1ju=l
P=25% , 50% 5%

e x=05,/=1  x=0.11//=0333
P = 25%

5.1.2 2
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5.2

X v+
0.5 1
05 0333
05 02

0167 1

0.167 0.333

0.167 02
01 1
01 0333

01 02

P = 25%
WA = Wriaity
WO = Wriaity
WO = Wriaity
WA = Wriaity
WO = Wriaity
WO = Wriaity
W fIF0 = V\mmly
WO = Wriaity
w rko > oty

P= 50%
WA = Whicity
WA = Whicity
WHD = Whriaity
WA = Whicity
WO > Whiarity
WA = Whicity
WA = Wity
WA = Wity
WA > Whicity

=5
P= 75%

WHFD > Whiarity

AO= Pty
WHIFO = Wiarity
WHFO = Wiarity
WHFO > Whiority
WHIFO = Wiarity

RO —Wiarty
WHFRD > Whiarity

A0/ "Riaity

P = 25%
\AFO = Wity
WHFRO = Wiarity
WHFO = Wiarity
WIFO = Whriarity
WHIFO = Wrionity
WHIFO = Wriarity
WHIFO = Wiarity
WHFO = Wiority
WO > Whiarity

P= 50%
WA = Wriorty
WA = Wrinity
WA = Wrinity
WA = Wriorty
WA > Wriaity
WA = Wriorty
WA = Wriorty
WA = Wriorty
WA > Wriaity

=10
P= 75%
WO > Wriaity
WA = Wriary
WA= Wriory
WA = Wriorty
WA > Wriaity
WA = Wriorty
WA = Wriarty
WA > Wriaity
WA > Wriaity



A=01,/4=02
X=0.167 , /<1= 0.333
A=05, /<=1

A=0.5,/<=1
P=25% 50%

P=25% ,50%

»=0.1,/4=0.333

A=0.1,/<=0333

A=10.167, /<=0.333

A=05, =033 ;A=05,1=02
1 P=25%,50% 5%

P=50%

p=25%

A=10.167,

75%
5%
p=1%

[4=10.2
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